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Math 100
Mada Altiary



خطة مقرر ریاضیات ١



Write without the absolute value:Example:

Example: Find the distance between given points

Solution:

Note:
F- 3 - 14 So

3. 14 - 3=0.14

Positing
d

Remark :

Remark g
- -



نقطة الأصل

Example:

Remark :

:
=



Steps for Solving Absolute Value Equation:
Isolate the absolute value
Analyze the equation " Is it possible to solve?"
Solve the equation
Check your answer

Solve the following EquationsExample:

✅

✅

ملاحظة: إذا كانت 
المعادلة تساوي عدد 

سالب فالمعادلة 
مستحیلة الحل

یسمى ھذا النوع 
من الأقواس رمز 

المجموعة            
Set notation

بتطبیق تعریف الدالھ المطلقھ

التمثیل البیاني:

•

•
•

•

1) lax - 31=5

Steph :

steps :

Step-38
X - 3=5 or - (4-3)=5

4=5+3 or
- X -13=5

ox= 8 or -

4=5-3
-

4=2
axe -2

Step 4 :

4=8 X=
-

18-31=5

151=5

5=5

• :X - { -2,8 }

.



✅

2) 134-7/+7=2

step 't : 134-71=2-7
It . wi solve

134-71=-5 lxtil=0

step 2 : No Solution or ¢

3) 134-71+7=9

Steph , Isn -71=9-7

13×-71=2

step -2 :

Step 38 34-7=2 or
- (34-7)=2

34=2+7 or - 34+7=2

34=9on - 34=2-7

21=3
or - 34=-5

step 48 4=5/3
X =3

X= 5/3
13.3-71=2 If. Sg- 71=2
19-71=2 I

I 21=2
15-71=2

2 = 2
I - 21 =3

2 = 2

i. 4={3,5/3}



Steps for Solving Absolute Value Inequalities:
Isolate the absolute value
Analyze the Inequality " Is it possible to solve?"
Solve the absolute value inequality 
Check your answer

ملاحظة: اذا كانت 
المتراجحة اقل من 

الصفر تكون 
مستحیلة الحل

Solve the following Inequalities Example:

ملاحظة: عند 
ضرب 

المتراجحة بعدد 
سالب نعكس 
إشارة المتراجحة

✅

✅

یسمى ھذا النوع 
من الأقواس رمز 

الفترة 
Interval notation

جمیع الأعداد مابین ٨  و -٢ تحقق المتراجحة

•

•

•

•

-

1) 14-31<5

Step 't ;

step -2

:Step 3 : X - 325 and -( a -3) 25

425+3 and - X +3 25

X C 8 and
- X L s - 3

- X L 2

ox > - 2

Step 4 :

X 28 X > - 2

17-3125 I - I -31 > - 2

I 41<5 I - 4 I > - 2

4 LS works ! 4 > - 2 works !

•: X= ( - 2
, 8)



تم حلھا في المثال السابق 
وكانت النتیجة كالتالي 

✅

✅

2) 0214-3125

o LIK - 31 14-31<5

or

IN - 31 > O

If 4=3 then

13 - 31 > o

X= C- 2,8 )
lol > o

o > o does not work

SO 4=(-2/3) U C 3,8 ) It . woo Solve

, ) 0<1×+2126

2) 141-2130

5) 14-3135

Step 't :

Step -2 :

step 3 : X - 3 > 5 or . ( X - 3) L 5

X > 5+3 or - X -1325

X > 8 or - 4<5-3

- X a 2

ox c 2

step

48.0
. Xz C- Ng - 2) U ( 8

, a )



→ set notation

Interval

|
" * " " " ° " '

8

.



By applying definition By applying theorem3

Solve each equation or inequality Example:

✅

✅

A) 134+51=4 B) 14125

C) 124 -

IAC
3 D)

Ft
-

34A
-22

Solution : step I and steps are done .

steps :

CAI
. 13×+51 4

→←34+5=4 or - (321+5)=4

34=4-5 or - 321-5=4 34+5=4 or

34+5=-434=-1 or -34=9 34=4-5 or 34=-9

X= . Ig or X= - 3 or 0=-3

Step 48 . check ! !

: . X= { -

'

g , -33

431/4/25
-

- 5 2XLS
425 and

- X CS

X > -5 . : X= ( -5,5 )

stepug check !

o: ox= ( - 5,5 )
ox > -5 XLS

##i
- 5 5



✅

ماذا لاحظتي في 
B,C,D

cc )

124-11<3
24-1<3 and

- (24-1)<3 -3<24-123

22124 and -2×+1 L g
-3+1<2423+1

-
2 224<4

022 and -22122
.

- Isac a 2

- 421

X > . I

step 48

: . no =L -1,2 )

fli .

Da- A O 2

D) 17-3×152
H . w

- 7 - 7 -7

-2 f7-3452

-9£ - 343 -5

334353
§ EX S3

I . 4=[5-3,3]



Example:

ماذا لاحظتي؟

Solve the following :

LA ) 141

?3
X > 3 or XL - 3

( - A
,

- 3) u ( 3rd )

(B)

124-1133
2X - I 7,3 on 24-15 - 3

2X 33+1 or 2X I - 3+1

2X 34 or 2215 - 2

432 or X S - I

o : X= ( - Ng - I ] U [ 2 , N )

C) 17-34172

7- 3N > 2 or 7 - 321 C - 2

-34>2-7 or - 3215-2-7

-34 > - 5 or
- 342 - 9

XL I or K > 3
3

io X= ( - a , 5g ) U ( 3rd )



Example: 

ملاحظھ : في ھذة المسألة 
لایمكن تطبیق نظریة 

خصائص القیمة المطلقھ 
وذلك لوجود x في الطرف 
الاخر وھذا یعني  لا نعلم ما 
اذا كانت قیمة x موجبة او 

سالبة.

✔

Definition:

Solve 14+41=34 - 8

X -14 = 3 X - 8 or
- (4+4) = 34-8

' 4+8=34-4 or - X - 4 = 34-8

12=24 or - 4+8=34+4

6 = X or 4 = 44

I = ox

check :
H . Wi Solver

X= 6 4=1

16+41=316 ) - 8 11+41=34 , - g
13×-41=4+5

1101 = 18-8
I 51 =  - 5

10 = to
5 =/ - s

a : N= { 63

For any real number

- x if XLO

FT - ( × if 430

For example :

↳ = Ftz =r4= 2

Remark : see = 141



Example: 

ملاحظة: الأسئلة (ھاي 
لایت اخضر) متعلقة 
بدرس الأعداد المركبھ

⬅

Solve TESS

Solution ; I X - 21 S 5
a. w : Solver

- Sfx -255 Test 23

- 5+25455+2

- 3 5457

oo . X= [ - 3,7 ]


